SITEID : CMU (Carnegie Mellon University, submission ID: CMU_1)

Experiment ID :CMU_MEDI11_MEDII1TEST_MEDFull_AutoEAG_c-DoubleKernelLG_1

Events Processed : E006 (Birthday Party), EOO7 (Changing a vehicle tire), EOO8 (Flash mob gathering),
E009 (Getting a vehicle unstuck), E010 (Grooming an animal), EO11 (Making a sandwich), EO12 (Parade),
EO13 (Parkour), E014 (Repairing an appliance), EO15 (Working on a sewing project)

Scoring Parameters|Cost False Alarm|Cost Miss|Prob. of Target
Value 1 80 0.001

Analysis Report|#Ref| #Sys|#CorDet|#FA|#Miss| Act. PFA| Act. PMiss|Act. NormCost|Min PFA|Min PMiss|Min NormCost|Det. Score

E006| 186|31821 104/ 359 82| 0.0113 0.4409 0.5826| 0.0068 04731 0.5584|  0.1195

E007| 111|31821 61| 170 50| 0.0054 0.4505 0.5174| 0.0049 0.4505 05111 0.0426

E008| 132|31821 82| 94 50| 0.0030 0.3788 04158 0.0066 0.2424 0.3244|  0.0443

E009| 95/|31821 65| 247 30, 0.0078 0.3158 04130 0.0081 0.3053 0.4064|  0.0413

E010| 87/31821 44| 607 43| 0.0191 0.4943 0.7331| 0.0069 0.5977 0.6843|  0.1601

EO11| 140|31821 66( 578 74| 00182 0.5286 0.7564| 0.0067 0.6429 0.7264|  0.1749

E012| 231|31821 150 404 81| 0.0128 0.3506 0.5104| 0.0133 0.3333 0.4994|  0.0398

EO013| 104|31821 87| 768 17| 0.0242 0.1635 04658 0.0119 0.2404 0.3896|  0.0976

E014| 78|31821 53| 213 25| 0.0067 0.3205 0.4043| 0.0073 0.2821 0.3729|  0.0253

EO015| 81/31821 26| 105 55| 0.0033 0.6790 0.7203| 0.0050 0.5926 0.6548|  0.0600

DET for CHU_1 : CHU_MED11_MED11TEST_MEDFull_AutoEAG_c-DoubleKernellG_1
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